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South East Central Railway
Hed T, Divisional Office,
CAICED ﬁ‘J-ITJT, Personnel Department,
f$™a, ARTR, Kingsway, Nagpur-440001

No. P-NAG/CON/2024/24(e-164070)/07 Date:- 08.02.2025

To,
All Concerned,
S.E.C. Railway, Nagpur.

Sub:- Publication of answer key of written examination conducted for selection to the post
of CLI(E) in Pay Matrix Level-7 against 100% DPQ of the Electrical Department of OP
wing.
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In connection to this office Notification No. 85/2024, dated 27.09.2024, the written
examination for selection to fill up 56 (UR-47, SC-04, ST-05) vacancies of CLI(E) in Pay Matrix
Level-7 against 100% DPQ of the Electrical Department of OP wing has been conducted on
08.02.2025.

As per extent provisions, Answer key alongwith Question Paper of the aforesaid
examination is hereby published for information. However, candidates may also download the
answer key from the official website of SECR i.e. secr.indianrailways.gov.in>Dept/Div of
SECR>Division>Nagpur> Personnel>Answer Key.

Further, candidates are advised, if required submit representations against the questions
paper and answer key alongwith supportive proof/documents within 03 (Three) working days i.e.
upto 18.00 hrs of 12.02.2025 in the office of the Sr.DPO/SECR/NAG in the prescribed proforma
(copy enclosed of Annexure-1). Representations will not be considered after 12.02.2025. If no
representations are received in the specified period, it will be assumed that the concerned staff has
no objection with the question paper & answer key for the instant selection.

Encl:-
1. Annexure-1
2. Answer Key of exam dtd. 08.02.2025. q,'l<
3. Question Paper of exam dtd. 08.02.2025. A

(Susheel Kumar Lakra)
Assistant Personnel Officer-Il, ‘
for Sr.DPO/SECR/NAG

Copy to:- Ch.0S/Cadre-ll of Personnel Department for information and it is advised to publish it

widely amongst concerned staff. : Z ;
_-\o

for Sr.DPO/SECR/NGP



Annexure-1

Proforma for submitting representation against the question(s)/answer(s)

Q. No.

Answer as per
model answer key

Answer  as
per candidate

Brief remarks along with relevant rules supporting
the claim

Signature of the candidate




NAG DIVISION ANSWER KEY CLI EXAMINATION DATE 08/02/2025
Q.No. | ANSWR Q.No. | ANSWR Q.No. | ANSWR Q.No. | ANSWR Q.No. | ANSWR
1 D 26 C 51 C 76 C 101 C
2 C 27 A 52 D 77 A 102 C
3 B 28 A 53 D 78 C 103 D
4 B 29 B 54 A 79 C 104 A
5 B 30 C 55 B 80 C 105 A
6 D 31 A 56 B 81 A 106 A
7 A 32 B 57 D 82 A 107 D
8 B 33 D 58 B 83 D 108 B
9 A 34 B 59 C 84 B 109 A
10 C 35 A 60 A 85 B 110 B
11 D 36 B 61 B 86 A
12 A 37 A 62 C 87 A
13 D 38 C 63 B 88 C
14 A 39 B 64 B 89 D
15 B 40 D 65 D 90 D
16 C 41 A 66 B 91 B
17 B 42 C 67 A 92 A
18 A 43 B 68 A 93 B
19 C 44 C 69 D 94 D
20 C 45 C 70 D 95 D
21 D 46 B 71 C 96 C
22 D 47 B 72 D 97 A
23 D 48 D 73 B 98 C
24 C 49 A 74 A 99 A
25 A 50 C 75 A 100 A




7.1.1GBT-BT &% SR & * DCU2:43302 * &7 &7 37T §
A. THFUAT AT -1 ST B. THIA HIX -3 3SAlelc
C. THUA Al -4 3MShlelc  C. THAT AKX -6 TSTlelC
Q.1 What does 'DCU2:43302' mean in IGBT-BT Make SR)
A.  (TM1 isolate) B. (TM3 isolate)

C. (TM 4 isolate) D. (TM6 isolate)

9.2. MU WAG-7 &l & & €AY TG AHS ollet & L-3 3000 g ST ar -
9IIelc oFT HIHA @il H STeldl
1) Tel.TH.ALTA 2) T4l 3) TATHESTHARAE 4) voTgar

ANS- A) 3 & 4 B)1&2 C) 2 D) 2 &3

Q.2 While working MU WAG?7 loco, if L-3 is opened in front loco, then ----- pilot lamp will
glow in front loco.)
1) LSOL 2). LSP 3)LSGRP) 4) LSB

ANS- A) 3 & 4 B)1&2 C) 2 D) 2 &3

9.3. WAG-9 ol &1 el & SR1eT MEMOTAL Tt #ieT A o el 9 MCB deh e -

A. 127.22 B. 127.92 C. 127.15 D. 1281
Q.3 while working WAG-9 loco if MEMOTAL speedo meter not working, then check MCB)
A. 127.22 B. 127.92 C. 127.15 D. 1281

9.4 MU WAG-7 @ler # dis aler & C3W distributor aled 3TgdTelC § df A-Q & ¢anT &dr 319
TN W el Sk & T dlenl sk STET hr AT ?
A. QAT @Rl A IET Taram| B. GlaAl &l & S3IeT|
C. TTHA @Rl A T 4T 9IS okl A =1gi od1eT|
D. gl Sllhl A e 9 Relrer g1 grem|
Q.4 WAG-7 MU loco, if rear loco C3W DV in isolated condition, so when the BP is dropped
by A-9, loco brake will be applied with train brake or not ?)
A. in both loco, loco brake will not apply
B. loco brake will apply in both loco
C. in leading loco, loco brake will apply, but in trailing loco not applied
D. loco brake apply in both loco, but loco brake will not release)

9.5. §9 A3e¢s DBR WAP-4 &idr # RB & g1 fohdel Al olet X R HRem -
A. 15 &= B. 16 & C. 19 & D. 10 &rar
Q.5. Roof mounted DBR WAP-4 loco, during RB, auto regression will take place after taking ----.)
A. 15 notch B. 16 notch C. 19 notch D. 10 notch
T.6. WAG-7 It 6 aifg 9 § 3R ol 9reic & @Rt A-9 & 1.5 kg/cm2 BP MR 31T el W
foet & agr gl -
A TR TSE STl SRET| §9iX oA9T| B. gl GR ‘0’ 9T 39|
C. 32T A & B gl D.GR ‘0’ W g 3|




Q.6 The WAG-7 loco is at 6 notch and when the loco pilot drops 1.5 kg/cm2 BP
pressure from A-9, then following action will take place.---)

A.The F/L will glow&buzzer will sound. B. Only GR will comesto '0'.
C.OptionA & B both. D. GR will not come to '0".
9.7 Tfed Faact didl & AT ‘O’ & e Ifg MVRH & & &Y drf -
A.HVRH & ‘0’ W T@a Q118 &l I leh AU o dhdol selleh Jalel [Fordy &Hidl|
B.HVRH &I ‘0’ X I&3T| Q118 I doT FkeA I ST oTal ¢| hddl scileh el [FoldR
|
C.C-107 &I Fol#q &teh AR Q118 T Aol ofehl IMST HTH Hal|
D.C-107 & Fo#q Y| 3R Q118 T AeJdel I S 6T ¢ 1INSY HIH Hal|

Q.7. In SIV loco during operation ‘O’ , if MVRH not working

A. put HVRH on “0”, wedge Q118 and take precaution of Q118 and clear block section)
B. put HVRH on “0”, wedging Q118 relay not required, only clear block section)
C. clamp C-107 and take manual of Q118 and resume traction)

D. clamp C-107 and take manual of Q118 not necessary, resume traction

7.8 OCR78 31T gl W Hlec IS gHM---

(A) FO104P1 B) FO108P1 ) FO107P1 D) F0104P2
Q.8. WAGY LOCO AFTER DROPPING OCR78, FAULT CODE WILL BE )
A). FO104P1 B) FO108P1 ) FO107P1 D) F0104P2

7.9 WAG-9 ol & BLPR & front 9ISl & T@el U TTHA T g8 ISE T Aal T,
W BLPR & RAT disliered 9 e &1 85 AST 1A Il ¢ o gl fhad §

1. HIHA &7 g3 dec god &S ¢ 2. 83 disc &1 icaed 338/1 WS gl
3. 83 @Se &1 MCB 310/1/1 T & | 4. 835 oisc &1 MCB 310/1/2 9 § |
A 18&2 B) 2 or 3 C) 1,2&3 D) 3WIFd Tsfr

Q.09. In WAG-9 locos, the front headlight does not work when the BLPR is placed in the

front position, But if the rear headlight works on the rear position of the BLPR,
then

what is the trouble? )

1. The front headlight bulb is out of order

2. The head light contactor 338/1 is defective
2. Head light MCB 310/1/1 in trip condition.
3. Head light MCB 310/1/2 in trip condition.

A)1&2 B) 2 or 3 C) 1,2&3 D) ALL ABOVE
7.10 3-%of gaa feer el A ia & a9 feeqw & P-1 &1 767 gar ¢ ?

A. TH.TH.-4 B) THUH.-8 () TH.UH.-11 D) TH.UH.-14
Q.10. Which sub system does not have P-1 in the 3 Phase Trouble Shooting Directory
A. SS-4 B) SS-8 C) Ss-11 D) SS-14



.11, SIV &rer & f§ar BLVMT FaileT e A ol 98---—--
A. U AT & TATY & sol3R TEIC & S | B. 99d Arg WX VCB R g S |
C. Bed AT W SR TEIC & ST | D.3WFd A & RS AT |

Q.11. Taking notch in SIV loco without closing BLVMT switch

A. After taking 1 st notch blower will start B. VCB will trip after 5 th notch

C. on 6 th notch blower will start D. none of the above

7.12 g R{Eea-17 3.@.N-1 FH dired® F T §

A. T HiFedR ~ B.AYT ¥ead  C.fAFH TFecdaX  D.3Wad & & Fis 147 |
Q.12. SS17 —ICP1 related to-
A. BHEL SOFTWARE B. MEDHA SOFTWARE C.MICAS SOFTWARE D.NONE

7.13 HOG et ufa & e sigT Ham |
1. THIR YR 6.4 fRama#A2 & & g |
2. TEBER el & R &F AaT ¢ |
3. STB1 el T@drl § dl HOG &I &l e & =mef &1 [T ST HeveTl B
4. STB2 %o T@aT & - HOG &I cab2 & dTel s1g1 T ST Hehell Bl
A) 1,2& 3 B) 1,2 &4 C) 1&2 D)3uterd |afr

Q.13. HOG will not work in the following condition--

1. MR pressure less than 6.4 kg/cm2.

2. Transformer oil pressure not OK.

3. STB1 fails HOG cannot be switched on from both cabs.

4. STB2 fails - HOG cannot be switched on from cab2.

A) 1,2& 3 B)1,28& 4 C) 1&2 D) All above

7.14 ASFEs A #§ FLG1HT 81 W : ReaAfaf@d 3IH0T FIe 187 iar
1. &e-1 &7 T A 2.5d -1 A S/ & § HAex

3. ACIIS TR 4. J-Sfear sferar
A) 1,2& 3 B)1,2& 4 C)1&2 D) 3u0erd HY
Q.14 Failure of FLG1 in modified locos: The following equipment will not work)
1. Cab-1 Angle transmitter 2. TE/BE meters in cab-1
3. Multiple operation 4. Regenerative brake
A) 1,2& 3 B)1,2 &4 C)1&2 D) All above

9.15. WAG-7 MU @il & WS &l & BL f3thare & &ROT RTE fAeem ar fafse oier A
a1
Hohd fAelem
A. LSOL & &Y olldaX dAfd WX LSGR el STwaT|
B. 9go @ld W GR R3ra ghem|
C. faf$er & LSOL ar gfeler & LSGRPT & @ty GR R grem|
D. LSB S dlaX ard W GR ‘0’ 9 39|
Q.15.1f you get RTE due to BL defect in the rear loco in WAG-7 MU loco,then what




indication will you getin the leading loco ?

A.  with LSOL lamp LSGR will glow on lower notch)

B.  onfirst notch GR will regress)

C.  GRwill regress in leading loco with LSOL and in trailing loco with LSGRPT)
D.  with LSB, GR will comes to ‘0’ on lower notch)

¥.16. CCDJ W1 ¥ et &1 | el § -
A. Q45 B. Q45 & Q44  C. MTDJ, EFDJ, C118 & Q45  D. Q45, MTDJ,

EFDJ
Q.16. CCD]J fuse supplies the following ---
A. Q45 B. Q45 & Q44 C. MTDJ, EFDJ, C118 & Q45 D. Q45, MTDJ,

EFDJ

T.17. Sl AT FUT T g
1. AR 8 P A 1G-38 afehel o3 gl TRT |
2. AR & ol & A9 & 6 QN 81 ¥ |
3. STC & HVRH &I ‘0’ W W@ W | Q118 &I 3T ey sl ST I8 &1 Shdel sollh

TFAeT FrIT S|
4, WAP4 ol & oo fQeist & g&ar 12 gidr g
A) 1,384 B) 1&4 ) 1,2&3 D) 1,2&4

Q.17. Which sentences are correct----
1. G-9 knor brake 1G-38 should be in vertical position.
2. G-9 knor brake loco A-9 having 6 position.

3. InSTCloco when HVRH on ‘0’ , Q118 wedge is not required, block block section
to be cleared
4. There are 12 brake cylinders provided in WAP 4 loco.

A) 1,3 &4 B) 1&4 C) 1,2&3 D) 1,2&4
9.18.3scUfS-9 ollehl A ¥e FATCH-16 A oo Yfear Raefie & forder d1-1 dar -2 & rec §7?
A) TH @-1 qur T d-2 Hlec B) ar dI-1 3T &r 91-2 wlee
C) T I-132T & q-2 Hlec D) gr dr-1dar T -2 Hlec
Q.18. WAG-9 loco in SS-16 how many P1 & P2 faults in trouble shooting directory ?
A) One P1 fault & One P2 fault) B) Two P1 fault & Two P2 fault)
C) One P1 fault & Two P2 fault) D) TwoP1 fault & One P2 fault
9.19. 3% A arel ol & * S.E foleh W * 7 oAl Fe a7 galfar g 2
A) 550 B) 570 C) 590 D) 596

Q.19. In 3 Phase loco “DC LINK READY” node number in MICAS is ---
A) 550 B) 570 C) 590 D) 596

9.20. WAP-4 el & ----- arga:ra‘wﬁmﬂgaﬂa
A. FI-FI TS ASC SI9MT| B. -l T HI3C IS 32 dL |

C. PI-H FlFH Piger §19T | D.SI-a1 TS AT3C A& |
Q.20 In WAP-4 locos.......type of bogie provided.



A. Co-Co trimount bogie B. Co-Co tetra mount high adhesion bogie

C. (Co-Co flexi coil bogie. D. Bo-Bo trimount bogie
¥.21. T Well 3fesshed & AT A v HoR & G P RBTH FS > - o & g A
siosehicar S el ST &

A) ¥%g, ol B) oTel , &1 C) &1, offel D) olTdl, Ihg,

Q.21.In Air flow indicator gauge,.....colour needle is called as reference needle and......

Colour needle is called as indicating needle.
A) White, Red B) Red, Green C) Green, red D) Red, White.

.22, Seo[Usll-7 ollehl H Ueh g ot 15 Ahs & 3T IfG S 2T g1 Sfrar & dr sl driere

gael e Fe 1 A g -
1).3f¢ MVSI-1 a1 2 T A8 X I@T & dF TaTd selich Dl ABATT Y |

2).9f e gles g3 MVSI-1 qar 2 & & &1 I HL |
3). Tad HVSI-18&2 T draX dioiere 9 Il |

4.) 3 oz 3R V3 WAT FIAT & A IS P F 3TAT .0 § JIF |
(A)2,3,4,1 ()3,1,2,4 (C)1,2,3,4 (D)3,2,1,4

Q.22 In WAG-7 Loco After taking one notch if DJ trip within 15seconds, sequence of T/S-
1) If MVSI-1 or 2 not working isolate corresponding block.
2) If DJ hold, check the working of MVSI-1 &2
3) Put HVSI-1&2 on 3™ position and try OPERATION-1.

4) If load and road permit-resume traction. If the load&road doesn’t permit, contact

TLC.
(A)2 3,41 (B)31,2 4 (C) 1,2, 3, 4 (D) 3,2, 1, 4

7.23 S e ot Q¥ gl & o Ueten Afder Als @fdw A v § -
1) et BUR @faw & &1 | 2) ¢hfed / sifear THIC T & |
3) diepr @1 TiE T &l | 4) TEBIFT dof T d9HATT 60°C. & FIH &l

A) 1& 2 B) 1,2 & 3 C)1,3&4 D) 39erd Tl |
Q.23. Energy Saving Mode activated. when following conditions are full filled)
1) All BURs are in service. 2) Tractive/braking effort is Zero.
3) Loco Speedis ‘0. 4) Transformer oil temperature should be less than 60°C.
A) 1& 2 B) 1,2 & 3 C)1,3&4 D) all above

9.24. WAP-7 ol & Yicel TITel AT & fohdel dieiierT gid & ?
A) 3 B) 5 Q)7 D) 8

Q.24. in WAP-7 loco How many positions of Throttle angle transmitter ?

A) 3 B) 5 C) 7 D) 8
.25. WAG-9 Wil 3 ZiamhR ar YT grar & -
A) 6531 F.4.T. B) 5400 #d.w  C) 7475 #dT D) 5440 FAT

Q.25. Transformer rating in WAG-9 Loco is ---
A) 6531 KVA B) 5400KVA C) 7475 KVA D) 5440 KVA



9.26. 3 g Nl A 218 Hieaed Fallol gl I o &-
1. &r.ud &7 TEr ‘C’ geiRe W)l 2. .U I Tl ‘D’ ueiRe X gl

3. .U & T ‘D’ AT ‘C’ gl uX gl | 4. FeFeX 216 FalloT BT |
A)18& B) 384 C)2&4 D) 1

Q.26. in 3phase loco contactor 218 will close when-
1. BL Key on ‘C’ position. 2. BL Key on ‘D’ position.

3. BL Key on ‘D’ or ‘C’ position 4. Contactor 126 closed.
A)1& B) 384 (C)2&4 D) 1

9.27 A-9 & EaRT §1dY 31T Hlel G ---mmmmv Rer sTaigal  gla 3MTel WeltR &l STolel & UdhdT &

|[During A9 application ............cccccoeeeen. Relay energises and nullifies the AFL actions.
A) PR-1 B) P-1 C) QFL D) SW

Q.27.During A9 application ............... Relay energises and nullifies the AFL actions.
A) PR-1 B) P-1 C) QFL D) SW

¥.28. HSIV f&ae ------- A% SIV ol # AT f&am a1am g
A) Tsrsr  B) AW C) @ D) Tuud
Q.28. HSIV Switch is not provided in ------- make SIV Loco)

A) ABB B) MEDHA () SIEMENS D) AAL

¥.29. STC &l & & aAld & g LSCHBA oFT STofel oeTal g 3R T 3nforaet aar &R
FY A B/ § a GIUEAT - A g |
(A) F& TR (B) FZA.61 AT del TR
(C) Fg T Rer (D) FFAN61 AT Sl TR AT FYHisT Nel
Q.29. After 6 traction notches in STC loco LSCHBA glows and all auxiliary and CP also
working then, fault in ----
(A) CHBA (B) QV-61 Or CHBA (C) QCON relay (D) QV-61 Or CHBA or QCON.

9.30. WIeIes 3N.TTS A, ST AGHAT Fecl § dl I.Td§ HeFe HT Ul 8 v
(A) ¢ A& | (B) O ST & (C) Ush AT @aT & (D) 3R @ g g

Q.30. In regulated OHE, when temperature increased than tension of OHE conductors

(A) Increased (B) Decreased (C) Remains same (D) none of the above
31. RTIS & vA.M.& e T A W|ar g ?
A) TE.§-1 (B) wH.dl-2 (C) u=T.H-1 (D) TTHE-2

Q.31. MCB of RTIS is provided in ----- panel)
(A) SB-1 (B) SB-2 (C) HB-1 (D) HB-2
% 32. BPEMS &I &l 9 SI.3R fohdeh gaRT ‘0" 9X 377dT ¢ 2

(A) ¥g-50 (B) #¥g.3 (C) #¥g-51 (D) TUH o[ AT
Q.32 .While pressing BPEMS, GR comes to ‘0’ by ---------- .



(B) Q50 (B) QD (C) @51 (D) SwcC
733 .WAP-7 ol & T Afehe 9 & T g1 & Yel oTgl 3691 -

(A) 127.22 (B) 127.11 (C) 1301 (D) 127.12
Q.33. WAP-7 loco if ------ MCB trip, Panto will not rise.)
(A) 127.22 (B) 127.11 (C) 13041 (D) 127.12

734.QSVM Rl & 3 Wiee gl W Hid I el Aee gom -
(A) CCINV (B)CCA (C) CCBA (D) CCSPM
Q.34. When earth fault in QSVM relay, then ------ fuse will melt)
(A) CCINV (B)CCA (C) ccBA (D) ccspM

W35, &l $eT oNlfehd] HRIF a1 U s H Sfd §AF 3ifdehaa aifd -
A. 15 KMPH B. 30 KMPH C. 8 KMPH D. 10 KMPH
Q.35.during non inter locking working when train received on loop line then max speed of train is -

A. 15 KMPH B. 30 KMPH C. 8 KMPH D. 10 KMPH

7.36.THIE gRIEATT A a1 e AaoR & [T & O 59 7 & o IRIeie &1 & bl 87
1. MRFT & | 2.furédee ¢o| 3. oIS 50 &7 4. TSL afehar & SR |
A) 3 B) 1,2& 3 C) 2&3 D) 3Wied T8 H (ALL ABOVE)

Q.36.in emergency situation with out Train manager in which train LP can work)

1.Material Train. 2.Departmental Train. 3. Loaded goods Train  4.During TSL working
A) 3 B) 1,28&3 ) 2&3 D) 3WFd ¥ A (ALL ABOVE)

9.37. 8T ¥ (A oSl @) S W IS AT F 3N A AR 39 A et fFg _e @

TFERS F4E ?
A. 39T & dve WE B. 3 & g & &
c SR RfcsT st @ D. arEh- T ¥ |

Q.37.From which side will the crew and Train manager exchange signals while
starting the train from the station (starting from straight Line).
A. From the left side of the engine B. From the right side of the engine

C. from where the station building on that side D. by walkie-talkie
¥.38. 3MCHATEH QI A D/L A Ffe S gEiee &1 ST o e 9 & @R &
ST e fohar ST § ?
A ) S3m9.13 B) S.3m 6.03 C) sfr3am 9.10 D) S.3m 9.06
Q.38.According to which rule the protection of the train done in case of an accident in the
automatic section D/L?)
A) GR 9.13 B) GR 6.03 C) GR 9.10 D) GR 9.06

7.39 . 3meAfeE AT s9d dsd &7 Ife 3o Ao Reaa 3eAfes T [{ead o glax
Afdel TCY R{oetel § o 38 99 A & fav e arer s




A) &/T 912 B) €1/369(3) C) &/T 912 + &-512 D)&/369(3sT)+9.57.
Q.39.In the automatic section double line, if the last stop signal is not an automatic stop

signal
but a manual stop signal, then the authority to pass it is -)
A) T/A912 B) T/369(3B) C) T/A 912 + T-512 D) T/369(3B) + P.No

T.40. AfSFH RAE ¢ et & erdfe aTsd i w3 Fgl A fowar Sirar 8-
A: TFHIST gl & TH I | B: STgE #elel & gaRT el & ¥ |
C: Ygell §eX Tl & HAY ¥ | D: &R geX & 9¢ gl & TAT 4 |

Q.40. ARME train target time to departure is counted from -
A: From the time of the accident. B: From the time information received from deputy

control.
C: From the time the first hooter sounded. D: From the time of the end of Last Hooters

9.41. LP & carT did o1& f@d e aRRufadr & semar smden -
1. 3T AT Y 9 Rl e & fIT | 2.3 el § &< &, &7 Aok FEIdr &3
3. ME dF ST | 4. Jooad g FoR 78T & |
A) 28&3 B) 1&4 c) 2 D) 1

Q.41.in following situation LP do three short whistle-

1. Train manager to release brake. 2. Train is out of control, Train manager assist.
3. Train manager apply brake. 4. Fouling mark is not clear.
A) 28&3 B) 1&4 c) 2 D) 1

9.42. . T/D 912 sld-sler & aRFEAAAT & e § 2
1.D/L 3T TFAT H TAeTeTal F Grerer hedx gl I, GleAl TAAT & ST AR 3TcAY ¢ |
2. S/L3ErHEeT H el & didrer hedk gl OX, alel Teler & i §aR 39ceY ¢ |
3.3MeARS D/LA LSS fethare g 3R aiar Teul & &g a5 sexafaer f&eata o & |

4. 3MeY AFeTT A TSLafder & e |
A)1,2&3 B)1&3 C) 1&2 D) 3T G|

Q.42. T/D912 will issue in following cases-
1.Prolong failure of signal in Auto D/L section and communication is available

between

Two station
2. Prolong failure of signal in Auto S/L section and communication is available between two

Station.
3. Automatic D/L section LSS is defective and no intervening signal between two station.

4. auto section during TSL working.
A)1,2&3 B)1&3 C) 1&2 D) ALL ABOVE

9.43. AUTO & TSLafher & SRIeT eI ogeT & STt dTell GHY ST &l fAoey arelr 3raTRET -
A. &7t ar 78 1425 3R /d-409 B. farefer 3mdee & qar 3R A/S 912

C. & /& 912, & /&t -409 D. & /& 912



Q.43. auto TSL working right line second train will get authority)

A.T/Cor T/D1425 & T/b-409 B. as per signal aspect & T/E912.
C.T/D 912, T/b-409 D. T/E912
9.44, IAHT A FAT § ?
1. foRdr of M@ &r ARG T §HLAT & foIT Tof AT | 2. §SBNEId T e |
3. gQHEAT & oG 48 °e & U faume o ug | 4. 39AFd FHY |
A) 4 B)2&3 0)1&2 D)1,2 & 3

Q.44 What is a serious injury?
1. Permanent loss of any eyesight 2. Bonef/tooth fracture
3. You have to take rest for 48 hours after the accident. 4. ALL ABOVE
A) 4 B)2&3 0)1&2 D)1,2 & 3

7.45. T3 Qe ASIhIss Wl TeATes Teid ffoeier A ‘A’ HAR g3T gl W 30T A &
2¢AT AR H 91 gl gl W 5 A AR el & dI¢ cllehl Iidelc fohd T & Sem
A) 10 Kmph & 37Tl sclfeh T dh ST |
B) 15/8 Kmph & 3TTel sclleh TR deh S|
C) 10 Kmph & 30Tel 3TeT fAaTeAel & $e e S|
D)15/10 Kmph & 373Tel 37Tel f&Teder & B deh S|

Q.45.Mid-section modified semi-automatic signal if ‘A’ is extinguished, and no communication
with advance station SM, after waiting for 5 minutes loco pilot proceed ahead with speed---)

A. proceed with 10 kmph up to next block station)

B. proceed with 15/8 kmph up to next block station

C. proceed with 10 kmph up to foot of the next signal)

D. proceed with 15/10 kmph up to foot of the next signal)

T.46. I AT T ERUT HT 3o@ GR & 5@ Fd & 3799a Far = §-

A. SiT.3R 2.08 B. S.3R 2.10 C. S.3R 2.11 D. Sr.3m 2.09
Q.46. The conduct of railway servants is mentioned under which rule of GR?
A. GR 208 B. GR 2.10 C. GR 2.11 D. GR 2.09

T.47. 9T GEATT LA & IMEY solieh TFeled A TaT T S dl okl IRIeIe IS W3l el & §l¢
IS & Fad FT & v Far [&E gemer ?

A. T &6, Th BICT, Th ofal | B. Tsh BICI, Th ofal, Udh BICT |
C. T& &dl, al BT | D. T& ofdl |
Q.47.1f the train enters the block section without proper authority , the loco pilot immediately
stop the train and inform to train manager by ---------- whistle)
A. One long, one short, one long. B. One short, one long, one short

C. One long, two short D. Onelong



7.48. S8 o5 AFAT A T ST FRT YUl & aRTT Ugell IMSr ST & &I 3&T feem &
Gl Sy A A SAA-
A) 30 fAeie s1g | B) 15 fsic a1g | C) Jgel ST 9gdel & 916 | D) oigel fFery fest & arg

Q.48. During TSL working after departure of train, in same direction second train will be send after ---)

A) After 30 minutes. B) After 15 minutes. C)After arriving first train. D)After obtaining line clear.
7.49. T &7 A9aTel SoR & I & SIAT UiFdse shgolldl ¢ -
A. Hichfceh gEreaTT | B. IS gEieaT | C. 3UeOT &I faheldl | D.geT geieaT |

Q.49.Train passing signal at danger, which class accident)

A. Indicative accident. B. yard accident. C. Equipment failure. D. train accident.
7.50. f&Ter oesT Ao & {eeTel 3Nax o giar g-
A. TRT ¥ 120 #Hex | B. TS TEeX & 120 #Hrex |

C. a9 gl efeler gise ¥ 120 #Hiex | D. g F & 180 e |

Q.50 in Multi aspect signaling territory in single line absolute block system signal overlap is from-

A. 120 m from starter. B. 120 m from advance starter.
C. 120 m from the outer most trailing point. D. 180 m from home.

w.51.. T/C 912 & &A1 &1 3rARE MR § ?
1. f9aT J8T FeRR &7 31T dead & WIaR 2. TehdT 3TSer

3. 95T FoRR & AT AP dod T TABPR 4. {IAST B A A 917 T HT PR
A) 1,2&4 B)2,3&4 C()1&2 D) 2 &4
Q.51.In T/C 912 what authority is included in this format?
1. Authority to proceed without line clear. 2. Caution order.

3. Authority to proceed with line clear 4. Authority to pass signal at ‘On’.
A) 1,2&4 B)2,3&4 C()1&2 D) 2 &4

¥.52. 3M3¢ diger Aisfer & dise & FT sfedhey fardell gl WX SRIRT ST &-
A. 800 Hlex B. 1200 #eX C. 600 Hex D. 3RFd & & FIg g

Q.52. Caution indicator is provided -------- distance from point in out laying siding .
A. 800 Meter. B. 1200 Meter. C. 600 Meter. D. None of the above.

q.53.mWH@%@W%mSg&WWARMEWWEﬁEE@-
A. 30 Alslc  B. 25 AT C. 45 fAsic D. 15 fA=c
Q.53. Target time of ARME in double exit siding when sound 5 hooters)

A. 30 Minute. B. 25 Minute. C. 45 Minute. D.15 Minute.
w.54. SECR & 3fToRfar #eIarer 2008 &cT b A 31 deh fohetel ahereral e 3 b § 2
A) 23 B) 5 C) 59 D) 24

Q.54.How many correction slips have been received in the SECR OPM 2008 Rule book so
far?

A) 23 B) 5 C) 59 D) 24
g.55. " Aol & A IIele I IS - di¢ s IR A3 fear soen- --




A)13a¥ B)2ay¥ C) 3 a¥ D) 3 F A
Q.55. “B* Category Loco Pilot will be graded once every-
A) 1 years. B) 2 Years. C) 3Years. D) 3 months.

9.56. QAT 3cIAfew 1A fAeater 3T & 3R 38 W oo Fider e Baster 1 3w Far srar &
ar @il 9ree —---nm- T & 3T F¢9m|
A) 15 dr AT, AR FEr 8 30y & g @3 = & fv Jdur @ |
B) 15 /10 Sr.#aLg.g. 3R frar o 3160 & 98l @S A & folv IR F| |
C) U gEa 3R AR B oM Y ¥ T W A ¥ T RN W@
D) &AFT T
Q.56.When a Loco pilot is authorized to pass a Semi-Automatic home signal at ‘ON’ by
taking
‘OFF’ the calling- on-signal fixed below it, he shall proceed with speed ------
A) 15 KMPH and be prepared to stop short of the any obstruction)
B) 15/10 KMPH and be prepared to stop short of the any obstruction
C) Very cautious and be prepared to stop short of the any obstruction)

D) Normal speed.

9.57. ARCRTA 7 [T s & sclics JFAA H FIH Feh argy 34T T H 3 & o ot
qrIeic &l &7 ATRET fHel T ?
A) T/A-602 B). FIRIeT 3T H fAGer & @TY sclih s |
C) T-806 &dileh & & WY D) oA IATRET T NS & WY FHRI 3T, A & @ |

Q.57. Material Train working in Single line section absolute block system, after working in block section,
Return back to same station. LP will get Authority?

A) T/A-602 B) Block back in caution order with instruction.
C) T-806 with block back with instruction.

D) Normal authority to proceed & caution order with instruction.
7.58.. &l & AR olSC offel Ui T R STl ST -
1) iféar & R | 2) dHT ol A I & e eramer v glaer g o
3) SIS IRl TS A ST FAT  4)&U olSC STl A ol oFT oEMeT T Fiaem o g |
A)1,2&3 B) 1,3&4 C) 2,3&4 D) 3WFd I8 |
Q.58.1In engine rear side marker light is ‘ON’ when ---)
1) During shunting 2) Banker loco tail lamp provision is provided.

3) Engine move toloco yard.  4) Couple light engine tail lamp provision is not provided.

A)1,2&3 B) 1,3&4 ) 2,3&4 D) Al of the above

¥.59. @A WA USIH T &l § JUT ‘A’ AR STl 8T & Ig Fohd &l -
A) RTeTe Ag3rel A1 A 7 | B) f&eaiel TE § |
C) et 3RS A A § | D)3IWFd A A HiIg =gl |

Q.59. Semi-automatic advance starter signal is danger and ‘A’ marker is glowing means----

A) Signal in manual mode. B) Signal is defective.



C) Signal in automatic mode. D) None of the above.
7.60. GR& SR 2013 & §& & 3@R 3N.gU5 & [T el YR & U’ &olleh Bl © -

(A) 3 B) 4 € 2 (D) 1
Q.60.As per GR& SR 2013 Rule book , how many types of Power block ----- )
(A) 3 B) 4 € 2 (D) 1

T61. PEY & AGHA & SeT Ife 31 R g &, ar a1fa - el ufa g O 310 =87 g
aifeT, I Brer AT Basy HT H @I B |
(A) 60 FrFrurE.  (B) 75 drarurd.  (C) 70 dravurd. (D) 30 AU

Q.61. During foggy weather if auto signal aspect is green, the speed not to exceed -------
kmph, if Fog safety device in working order.
(A)60 KMPH (B) 75 KMPH (C) 70 KMPH (D) 30 KMPH

T 62. 3CIATEH JFAT H IMST TIT alel T TIThdl & dl JAT S1f9d T & Sar 3mer
f@ester 1200 #Hiex & ST gl W & o T T & Jo FolaT fohclell gdf W ofdam ?

A). 90 FlTT W SR Feldl, B) 180 #HeX T I WeldT
C) 600 #Hrex W SR FeldT D) 1200 #HeX T X Feldl

Q.62. in automatic section if train required to stop and distance between rear Auto signal
and

obstruction is more than 1200 meter, then Banner flag will be fixed at ------

A). Banner flag at 90 meter, B) Banner flag at 180 meter

C) Banner flag at 600 meter D) Banner flag at 1200 meter

9.63.. 90T & e A RAfRcHr JA0T 0F gl W QN F@e A HHaA fhde et de
HARAST 72
A)15 f&sT  B) 4567 ) 180 f&eT D) 30 &=
Q.63 Maximum leave granted in the state of abortion in entire tenure with doctors
certificate?
A) 15 DAYS . B) 45 DAYS. C) 180 DAYS. D) 30 DAYS.
9.64.73 Hifdh ISR Teh IR A - el ooh T dcfeT (TAIUd) W Peél HoX I Tehdl &
A)30 f&aT  B) 45 e C)60 fesT D) 180 fea

Q.64. Divisional Personnel Officer can sanction Leave on Average Pay (LAP) up to ------ _days in one spell.

A)30 days. B) 45 days. C)60 days. D)180 days.
9.65. ML.eA.TE A I F A FA & Jgd g 9l & 9% fFar Sar g

A WTAS. 3R SR & TE.AR | B. ¢ahleT , ddheilehl YTRIGTOT |
C. U3 dfeior, fosme qar aer Feadr | D. 3WIFT T |
Q.65.In CMS, Parameters to be checked in “Fetch crew as per Rule”is _ )
A. PME & GR and SR. B. Traction, Tech training.
C. LR, Rest and Loco competency. D. All of the above

9.66. Sl URICIC el §oh ool & dlc It YL & TV g 377l ¢ off, ML.usA.eH & § & &ed



A. SYSRF B.SYSLT C. SYSNF D. SNCL
Q.66. If serve call acknowledged and crew not turned-up for duty, then crew status goes to

____in CMS.
A. SYSRF B.SYSLT C. SYSNF D. SNCL
w.67. "¢ IMWEHA" IR "GIsA A" F T A T FET AT g----
A) T, B) & C) MWMAN D) IWad H & IS oAl |
Q.67. Difference between “Train arrival” and “Sign ON” is called ___
A) PAD B) PDD C) PCDO D) None of the above.

.68 .ol 33T &l AdoT g--------
A) Sl 3¢S = 1A 39T & folv 891 €< / 24 €e.

B) @Rl 33T = ITAATA 39T & AT SoteT Ay / 24 =e.
C) A&B gt | D) 3WFd & & FIS e |

Q.68.Loco Outage means-------
A) Loco outage = Engine Hours for traffic use/ 24 hrs.

B) Loco outage = Engine KMs for traffic use / 24 hrs.
C) Both A&B D) None of the above.

7.60. D3A R1968 % Prifafam & ¥ 7 &1 frost &8 Mifdse a=ar 37
A) T#H 5 B) @a# 6 C) fags 11 D) fag# 9

Q.69. Which of the following Rules of D&A R’ 1968 does specify the penalties?
A) Rule 5 B) Rule 6 C) Rule 11 D) Rule 9

%.70 foeafaf@d & @ fha cafed @l aurd doehR & §9 & HgFd el B AT 761 82
A) T HARd Yold  HHATRT | B) Ush Hdlioigd Yod  &Haan |
C) W& ¢3 JfadeT HUFRY | D) U& &efeil ATfaehrehdT |

Q.70. Which of the following person is not allowed to be engaged as defence counsel ?
B) A retired Rly. Employee.

A) A serving Rly. Employee.
C) A trade union official. D) A legal petitioner.
9.71. 3ed Qash (31 VS ) faraAl b oot Tt fohctai 8, 3R 3 Fohctet et & fqenfSia &,
A4aEi AT B)sHET A ATA  C)7 RN A3 AIA D) 7 49T 7 25 A

Q.71.How many total numbers of rule, the Railway servants (D&A) Rules, do contain and

how
many parts are they divided?

A) 31Rules in IV parts. B) 25 Rules in VI parts.
¥.72. .S ISR 39wt F FeAfaf@a & @ gear § -
A). 3TRTEsAS TR B). Sd1d W |
C). FEclehdt TR D) a8 T Aifod 181 X Fohel |

C) 31 Rules in VIl parts. D) 25 Rules in VIl parts.

Q.72 Inquiry Officer can delegate his functions to
A). Disciplinary authority. B) Defence helper.



C). Presenting officer D) He cannot delegate.

7.73. o A%ers & ol Red & - 1 Aot A gt fhar Srar § |

A Td @ aEd B Ul @ d8eoRk  C. Tl O AT Tr@dd  D. F.ol e
Q.73.Leave Reserve’ for Loco inspector is provided in the category of----)

A. LP goods. B. LP Pass. C. LP Mail & Exp. D. Loco inspector
9.74. % GBI Hgl 3Tl gl §

A) goe R B)gT R C)a®a D) A&
Q.74 Buff force developed at -------
A) Draft gear.  B) Draw gear. C) Knuckle. D) Yoke.

9.75. I ¢ A C3W & gl RoamX & IR giar & -
A. 5.0 Kg/cm2 B. 6.0 Kg/cm2 C. 3.8 Kgicm2 D. 5.0 To 6.0 Kg/cm2

Q.75.In the coaching train, there is pressure in the control reserve of C3W -
A. 5.0 Kg/cm2 B. 6.0 Kg/cm2 C. 3.8 Kglcm2 D. 5.0 To 6.0 Kg/cm2

9.76.TE Limit &T termination board fsT 4R &7 & fehclel g I ST STl § Ife oleht MU &
A. 700 #HieX B. 550 #HreX C. 100 #Hex D. 30 #ex

Q.76 The termination board of TE Limit is placed at what distance from the crossing of
the bridge if the loco is MU)
A. 700 Meter B. 550 Meter C. 100 Meter D. 30 Meter

9.77. 19 31T qUTT: oI § o AIS/TFeEr g5l I ofis A de fhar ST Ife sHAT el R -
¢l ¥ 39 gl (SECR OPM 2008 & 3{]ER)

A. 50 & B. 60 <o C. 8128 ea D. 20.5 @
Q.77.When the wagon is fully loaded, the load/empty handle should be set to the load if its
total load ----------- Be over the ton. As per SECR OPM 2008)
A. 50T B. 60T C. 8128 T D. 205 T

L* 4 Jp— dqled TAUTET ARy fSed 7 3MOTdTelld seh o9llel & GRS &l s 98T UR &l doil

T g7 Aeprore Hr sgaedr sa gl

A) KR-1 3rdr B) W3 ua.U 3N C) sk UIsq TFHIeleX D) &r.ar.érua.
Q.78. ------- valves provides rapid venting of the brake pipes only during emergency brake application in
LHB coach)
A) KR-1 DV] B) PEASD C) Brake pipe accelerator) D) CDTS

9.79.. WAG-7 THaTel Sliehl &7 g[veh Hiwe & 1/150 310 AU A TiE & & AT fohcem os g
T ol I BITeldT &Y Fohdll ¢ |
A. 3693 & B. 3564 e C. 3978 e D. 4250 &1
Q.79. Haulage capacity of WAG-7 SU in 1/150 up gradient in tangent track at dry condition.
A 3693 T B. 3564 T C. 3978 T D. 4250 T
9.80 . LHB = # g dig & & f¥eH oem giar § —



A. Sl A3 9 AEeH B. 913r #A3cs B da {TeH

C. tFgd A3cs 38 s faweH D. &Il AT3CS fSFh s TaEeH
Q.80. In LHB coach ------------ type of brake system is provided.
A. Bogie mounted brake system. B. Body mounted brake system)
C. Axle mounted disk brake system) D. Wheel mounted disk brake system
9.81. At Hidegdr Tre foeer aRfFufaat & far srar & -
1. ¢o & 91> Afghel JNsa & 914 | 2. s TTSfSI 3T F F G |
3. ¢ & INRTEAET Feored | | 4. T ¥ EC Afgehel 3ol el & d1G |
A 1,28&3 B) 1,2& 4 C) 1&3 D) 3Wied & |
Q.81. BP pressure continuity done in following situation---------
1. After attaching vehicle rear of the train. 2. After attending brake binding.
3. At train originating station. 4. After detaching last vehicle from train.
A 1,28&3 B) 1,2& 4 C) 1&3 D) ALL OF THE ABOVE
7.82. TT HIT aRR Fl - A ST ST ¢

A. WS MTAE B, 3 Weics Mwas C. A&B @l A D. #Ig g
Q.82 Anti Creep wire is provided with?

A. Regulated OHE B. Unregulated OHE C. both A& B D. None
9.83. e T @I §H YehR gafiche foham aram &
A) gl AfoT B) . 3ms Afor C) UFaHoES D) |dd Afor

~

Q.83.Running Staff are classified as--------

A) Intensive B) Essential Intermittent C) Excluded D)Continuous
9.84. TgA AT FSPYA H A G HAGH _ ©C
A) 36 B) 42 C) 48 D) 54
Q.84. The standard hours of duty of intensive classification _ hours a week
A) 36 B) 42 C) 48 D) 54
7.85. AT A qree F AT WaTAAT YAOT qF e
A) TR-11 B) TR-10 C) TR-12 D) TR-13
Q.85 For ALP certificate of competency -----------
A) TR-11 B) TR-10 C) TR-12 D) TR-13

Q86. SIV @I # & MVMT-2 & & &Y af LSCHBA 57 & fahciell X ag St feu gham 2
A) 5.6 9F3 B)10.69$8 C) 0.6 &3S D) 53Hs
Q.86. D] will trip after ----- from LSCHBA extinguish if MVMT-2 not working in SIV Loco.
A) 5.6 Second B) 10.6 Seconds C) 0.6 Seconds D)5 Seconds
787, &' AoN olenl grgeret 1 AT TF el Tt Fol JHep----—--—
(A) 50-59 (B) 60-69 (C) 70- 79 (D) 80-100
Q.87 -------m-m—-- Total marks deciding grading of ‘C’ Category loco pilots.
(A) 50-59 (B) 60-69 (C) 70- 79 (D) 80-100

7.88. ACTM & 3J8R Siotel fWhead dféfthehe ure-2 fordeh gary deh fohar Sirem 872



A) &Had HAH FIH & ¢aRT deh a1 ST § |
B) e IfeieT TIH & SaRT e fohdl ST ¢ |
)

(
(
(C) o TI® T IfeAeT T & @RI Sigec H T fohdl ST &
(

D) s# & 5 T |
Q.88.As per ACTM Engine fitness certificate part-2 is check by -----
(A) Check by Maintenance staff only (B) Check by Running staff only.

(C) Joint Check by Maintenance staff & Running staff. (D) None of the above.
989. LHB wax g¥derT I arel ¥ # afg ACP g S dr fher &1 gf3ehet - fe@mem |
(A) @ret (B)gxr (C) a%g (D) 1S Hoha AT fe@me |

Q.89.1f ACP in LHB air suspension rake, then FIBA indicator will show-----
(A) Red (B) Green (C) White (D) No any indication.

9.90. Ife ATRMST A 38 9TaR SANST SATAT § al, 35 1A &l dhd T I TFqS - T STer
oTel gl el
A. 696 HIX B. 686 #HIcX C. 700 #Hrex D. 725 #HicX
Q.90.If dead power is added to the goods train, then the length of the train should not be
more than including dead power--------- )
A. 696 Meterr B. 686 Meter. C. 700 #He¥ Meter. D. 725 Meter.

T91—fhT FoIr & SeTallfehdl H ATS T JSA T A 3TATH § ?
(1) ¥sa-1 (2) ¥sB-2 (3) ¥5s-3 (4) ¥35-4
(A1, 2, 3 (B) 2, 3, 4 (C) 4 (D) 39FT G
Q.91. Isolation of the main line is essential in which class of interlocking ?
(1) Standard-l (2) Standard-ll  (3) Standard-Illl  (4) Standard-IV
(A1, 2, 3 (B) 2, 3, 4 (C) 4 (D) All the above

792. T s (e A fFae T & Ml NR 3T IRt W a3 [oisy RAEest e g ?
A. 0.6 kg/cm2, 6 §%s & . B. 0.3 kg/lcm2 , Tsh qhs &
C. 0.4 kg/cm2, 4 ¥ #  D. 0.3 kgicm2, 60 ¥Hs A

Q.92.in air brake system, brake should apply when the rate of drop of pressure in BP is -
A. 0.6 kg/cm2 in 6 second. B. 0.3 kg/cm2 in One second
C. 0.4 kg/cm2 in 4 second D. 0.3 kg/cm2 in 60 second

9.93. {9l M & FHIA WA AT HfaA e & W¥ed  FF war amfigu -
A. 3ifaF 4 & 3 ( 9F T F A \ATEA FF AT AT
B. 3ifa® &9 AT ok AT T TIEee H FEA TRT
C. 3ifam 4 # =+ 3 Ve I =T AIfgw
D. 3ifas 4 Iz & et FRRA gl TR |
Q.93. While working with out guard ----no. of piston should be in working condition in
rear
of the last vehicles)



out of four 3 should be in working condition including brake van.
last vehicle or brake van piston should be in working condition.
out of four any 3 should be in working condition.

oo w >

out of four ,4 piston should be in working condition.

9.94.. BLVMTFelsT el & STC & 81 STl § TR Sl Fellol I@all ¢ - HHTA HROT
1. QCON & @rsT 2.QSVM & Tr&r 3. CCA #Aec & rm 4. QSIT TS
(A) 1 & 2 (B) 4 (C)1,2 &3 (D) 2 &3
Q.94.. After closing BLVMT, if STC stop working but, DJ in close condition — probable cause is --
1. QCON DEFECT 2.QSVM DEFECT 3. CCA MELT 4. QSIT ENERGIZE

(A) 1 & 2 B4 (C1,28&3 (D) 28&3
T 95. Wllehl o gifeler &THAT Y 0T i HHY Meli(de) f&afy A, gar (gm)dr Jo=m &
3TTHST (IS --mmm- % FH B & |

(A) 5% (B) 10% (C) 15% (D)20%
Q.95 While calculating the haulage capacity of loco in wet condition, get ----- % less adhesion Compare
to dry condition.
(A)5% (B) 10% (C) 15% (D)20%
7.96 aRf AT3CE 9 AT e 9.0 WOE P A FF aRd THT THG! b 3Tl
& NIl AISs T A ST aTel 3ok fHeisT & Joroll A frdelr gfderd 9er wad &1 &
s f8elsy A ST § ?
(A) 100% (B)50% (C) 60% (D) S & s =igl |

Q.96 While working in HL empty wagon with bogie mounted brake system, what percentage
of pressure goes into the brake cylinder of the empty wagon as compared to the

brake cylinder that goes to the loaded wagon during emergency brake application
?)

(A) 100% (B) 50 % (C) 60% (D) None of the above.

¥.97. GHeT & THY & ASRAC A dise 3% A &1 fhg 3R & Rwmar Siar g
A)O B) 1 C) 2 D) 3
Q.97.What is the letter used to represent the point of mount in the track measurement
at
the time of an accident?
A) 0 B) 1 C) 2 D) 3
9.98 — Tl G2 I IRIETOT FASAT IS & fHeG Joad IH T afi@ F -

A) 3 ay B) 3 #E C) 1ay¥ D) 6 g
Q.98. Record file of caution order shall be preserved for period of --------- after issue.
A) 3years B) 3 Monts C) l1year D) 6 moths

9.99. STgT oeh T g a1 YU alell &of ol W T H TsfAC fohar Srer ¢ |



A) AT TS B) o @3t C) {3 U ollsd D)saAH & &Is e |
Q. 99. Where possible, the train with hot axle is admitted on .
A) . Main line B). Loop line C). Second loop line D). NONE
9.100 ¢oT FIH Fd AT TFAT H G ScleleX B dl Tg Hohd Gl § —---mmmm
A) T AFA 8, IUH UF {aeAel 3o arem g | B) fRell & garT gger dieaera fohar aram |
C) e HlOH § 9UH @ 3 arelm ¢ | D 3WFd A & &5 AT |

Q.100. While working train in section if detonator burst means ----

A) Foggy weather, approaching First stop signal.
B) Protection was done by someone before.

C) Foggy weather, approaching First of signal
D) None of the above.

¥ 101 - el Iaqet A FiT W smar anfAer FAE @ 2
(A) 3¢ s (B) f&=ely ammw (C) ST #TST (D) Shichall TST
¥ 102 - Bedr  #1NT & Teprer & forw fader fohq 3refede & fear mar §
(A) 373 (B) 379 (C) 351 (D) 376

¥ 103. aFeirh AfaF qras d@a eEER derar fFad am |y ?
(A) 9HTIG (B) #YL QROT et (C) gfexr amef (D) el SgTg A
9 104. T & AAPT oS F AT GA97 @A ark 3l FT T FAT 9 ?

(A) 1, 2, 3, 4 (B) T, @, dfil, I®  (C) LI, 1,Iv - (D) ¢, R, 3, ¥

¥ 105. ATIHTYT F HJER FIE ‘F 7 Fofipa FoAardt Flaq ¢ 2
A. TS ATgemT Ry ¥ | B. fSreTehr ATemTST #S & |
C . TSirehr ATGHT EfaToT IR #1T a1 370ei & | D. TSieTehr AT GoTrell ¢ |
¥ 106. ¥4 eedr afAfa & Fo fFaa wera ¥ 2

(A) 41 (B) 65 (C) 45 (D) 56
¥ 107. WU & 17 3 o1 # For frawr aqedq € 2
(A) 4 (B) 6 (€ 7 (D) 9

q108.mmmmmaﬁr§3ﬁ?
A. 0531'51954 B. 073!3‘ 1955 C. 30 39T 1956 D. 08 31rEd 1976
T 109. HAAAIA IS TorHT™T FaoF gk fFT T & I0F & e g 2
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